N of reco track vs pT [N of associated (recoToSim) tracks vs pT N of associated (recoToSim) duplicate tracks vs pT

2 F 2 2 2
Q o Q [} Q
£ 10°E- £ g £
) 2 ]
10°f = “ g
E3
o
10°
10%
] o °
T 3 T
@ o 24
e 1 1I0 2 2 *To 1 1I0 02 2 10 1 1Io — 2
trag‘lg p, (Ge\;')0 traélg P, (Ge\}f) tra&l? P, (Ge\}f)
- ITTariainal
= &%ﬁ%&%‘ééﬁﬁ&%ﬁ&% =
2 2 : 2
é ) 2 10% === e IR P -. ----- E
510 = g o 8
o
3 10

1 2 3
track n

2 3
track n track n

N of associated (recoToSim) tracks vs phi | N of associated (recoToSim) duplicate tracks vs phi_|

true tracks
fake tracks

duplicate tracks

10°F

Ratio
E“




	Contents
	Page 1


